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Oracle’s compatibility policy
Even though Oracle has the second market share in the database industry (33.7%, behind IBM's 34.1% in 2004), it has chosen to let IBM'DB2 customers use their future products (iFlex, Retek and Fusion). It may seem all the more strange to form this kind of "alliance" with the competitor just ahead of them. 

The database industry is bigger than the industry of additional software like Fusion. At first sight, it seems that Oracle should have privileged its database activity. Oracle could have made its tools only compatible with Oracle's DB, so that others customers might want to switch to their DB in order to access these tools. We saw in class how important and difficult it is to attract new customers. The quality of these additional applications might be important enough to pay for the customer's switching cost: the gain of a customer switching form IBM to Oracle would be the profit of using Oracle's additional products, while the loss would be the cost of buying Oracle licenses and learning how to use Oracle's DB (assuming that Oracles' DBs are as good as others’ DBs). Put that way, the loss seems to exceed the gain, and no users would switch because of these additional products. Therefore, it is normal for Oracle to put aside the idea of forcing customers to switch to their DB to use their additional software. 

However, when considering new DB users who hesitate between IBM and Oracle's DB, it would be wiser for Oracle to prevent other users from utilizing these additional products. Indeed, if a customer thinks that IBM and Oracle's DB are equivalent, these additional products might persuade the customers to choose Oracle. 
Another advantage of preventing other DB users from using their additional products would be to lock Fusion, iFlex and Retek users. These users would not be able to switch to another database, because they would be incapable of running these additional applications. One drawback would be that these users might be aware of this lock-in and would not buy these products for these reasons. Even though Oracle will not increase the number of its database customers with the strategy it has chosen, it will increase the strength of its network because its database customers will be more likely to buy the additional products without fearing any lock-in. IBM and Oracle have nearly the same market share in the database industry, but Oracle might have a stronger network thanks to its additional products.
 One of the strategies to remain the leader is to propose a growing connectivity between the different standards (Shapiro and Varian 1999). One might say that Oracle is taking a risk because it is second in the market and might then be helping IBM. However, I think that with its additional products, Oracle can also be considered as the leader of the market. As a result, this strategy might help both IBM and Oracle to gain a competitive advantage against Microsoft or Sybase. If, on the contrary, Oracle’s market share continues to drop like it has since 2001, it might encounter the same problems as Apple in 1993. At that time, Apple tried to introduce the PowerPC to provide compatibility for the installed base of existing CISC-processor software. Apple had the second market share of the market, and providing compatibility with the leader proved to be the wrong strategy for Apple.
Overall, it seems that it would be more intelligent for Oracle as a database company to prevent others customers from using these additional products in order to gain a competitive advantage over the other database companies. However, since Oracle is a global firm, allowing more customers to access their products will certainly increase their revenues. Oracle has decided that it would be wisest to become IBM's co-opetitor. This is a clear sign of Oracle's will to have a broader offering of products that can be widely used. Oracle might also try to develop a standard with IBM and move the competition away from the databases to the additional products. With its declining share in the database software market (39.4% in 2002), this might be the wisest move.
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